
Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

Spare Parts List of Martin JEM ZR45 © 
 

05523021 Switch illuminated mains 

05761003 Piston Pump 240V / 50Hz 

05769002 Rubber Washer for piston Pump 

08050416 M3x10 ph pz black 

08052601 M3 nut black 

08054401 M3 washer lock 3,2/6 black 

08070418 M4x10 tapt black 

08070419 M4x16 ph pz black 

08070422 M4x10 ph pz black 

08072701 M4 nut lock PA shiny 

08074401 M4 washer lock 4,3/8 black 

08131007 Bolt set m8x20 hex hd black 

08131202 M8x25 Allen screw black 

08132309 Handwheel m8 

08132701 M8 Hex lock nut PA-insert 

08134301 M8 washer 8,4/16x1,6 black 

08152603 M10 Hex nut brass 

08190104 2.9x9.5 C. rec. Ph. Selftap bl 

08190108 Screw no6x1/4 self tapper p 

08190410 Screw no8X3/8 self tapper 

08220105 3.2x10 Pop rivet steel black 

08220106 3.2x14 Pop Rivet Alu/steel bla 

08220705 Rivet earthing 

08260106 25/8.2x5 Spacer Plastic Black 

08261204 Spacer Snap-PCB / selftap , 

08261315 Bush ZR33(flying bracket) 

13104001 Strap, black, 2.5x100mm 

15803013 Heatshrink 12.7mm black 

18360070 Plate for xlr-plugs,M2000, 

19440040 Rubber foot 25x15mm. Black 

26410070 Elbow male 4mm-1/8 bsp 

26460220 Straight 1/8 bsp to 3/16 tube 

26460471 Adaptor,straight 1/8 1/8 brass 

26460870 Sealed nipple 

26561570 Plate Pump ZR12/22/33/FX-2 

26568620 PowerCon back plate 

33150028 Label FX-2 yellow warning tria 

33150040 Label, Use Jem/Martin fluid 

33190093 Label PE for thermoprint 60x35mm 

34240008 Plastic bag 600/250x1200x0. 

62021021 PCBA XLR5,Male/Female 

M05123102 CON, PCB, FEMALE, XLR 5pin, NC5FA-H,/!\ 

M05143102 CON, MALE, XLR 5-pin, PCB, NC5MA-H, LEA,/!\ 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/


Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

M05050923 Con,chassis,PowerCON TRUE1,inlet,IP65 /!\ 

M26569945 Heatsink, ZR series 

M26570010 Cover, ZR45 

M26570035 Hanging bracket, ZR45 

M34040068 Cardboard box, ZR45 

M34204056 Bag 5, Speedy packer 

M55765048 Remote, digital, ZR series 

05324104 Crimp Terminal AMP, 2.54 

05324219 Crimp Housing 3 pole, 2.5 Amp 

08052601 M3 nut black 

08054401 M3 washer lock 3,2/6 black 

08070424 M4x10 tapt black 

08072302 M4x10 finger screw for washer 

08074402 M4 vistop push-on washer shiny 

08260150 Bush strain relief 

11840027 Cable 6core remotes 

13104001 Strap, black, 2.5x100mm 

M62020585 PCB Remote, digital, ZR series, tested 

M56150210 Heat Ex Assy, 230V ZR45 

05041029 Thermostat 350DEG C manual reset 

08070418 M4x10 tapt black 

08070422 M4x10 ph pz black 

08072701 M4 nut lock PA shiny 

08105010 Clip P type brass 4.8mm 

08190108 Screw no6x1/4 self tapper p 

33130035 Label thermal trip 

33150028 Label FX-2 yellow warning tria 

33150074 Label, Caution-shock (ENG/FR) 

62203709 Thermal Loom, Mag2500HZ 

05328408 Crimp non insulated 

05328412 Crimp insulating boot 

05348406 Crimp red spade 

13104001 Strap, black, 2.5x100mm 

M26401805 Heat exch 2000W 230V ZR45 

M62544051 Thermocouple, 50cm ZR35/45 

05328408 Crimp non insulated 

05328412 Crimp insulating boot 

13104001 Strap, black, 2.5x100mm 

32021009 Grommet 7-10mm cable retention 

M62020175 PCB, JEM ZR45, 230V, tested 

05020013 Fuse 3.15 AT, I*I*t=226.5,/!\ 

05020020 Fuse 6.3 AT 5 x 20 mm,/!\ 

M62021072 PCBA Filter, ZR series 

M62203854 Loom, 230V, JEM ZR45 

05243002 Xlr 3pin male chassis mount 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/


Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

05324104 Crimp Terminal AMP, 2.54 

05324205 Crimp Housing 4 pole, 2.5 AMP 

05324219 Crimp Housing 3 pole, 2.5 Amp 

05328408 Crimp non insulated 

05328409 Crimp blue piggy back 

05328412 Crimp insulating boot 

32021009 Grommet 7-10mm cable retention 

M62520107 Fluid line assy, JEM ZR45 
 
 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/

